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: 2019 (A) )
. SSC PART-II (10th CLASS) 2

PHYSICS (NEW SCHEME) GROUP-I  ( 2015-2017 o) Ut ogid (€ 2 P
TIME ALLOWED: 1.45 Hours SUBJECTIVE @« 2145 = =
MAXIMUM MARKS: 48 48 = AF
NOTE: - Write same question number -.;.C,»u:;_/.hrfié Z,»/*}/ul/-‘dlr&,{gés’dli -

and its part number on answer book, as given in the question paper.
SECTION-I Q 2>

2- Attempt any five parts. 10=2x5 Jj..w.f.-/r&;&f 24
(i)  State Hooke's Law and write its equation, ._.uv._ﬁ.[uu ULUIEEE (i)
(i)  How time period of a Simple Pendulum can be determined? e tepir. Ior‘!‘fuex (i1)
(i)  What is Reciprocal of Time Period? Define it. Ly e UL {Lﬂl“.&f N (D))
(iv)  What is meant by SONAR? teslpde st (iv)
(v)  Which equation is used to find the Speed of Sound? vq.duJJm',u—Juf.;'_LL/r}vMJm- (v)
(vi)  What is the difference between Generator and Motor? S DAV LIz (i)
(vil) What is Transformer? Write its types. _Jf()’(UIJJ' S L2 (vii)
(viii) What is the function of Spiit Rings in a D.C motor? Y (2 AP S RN T (vill)
3- Attempt any five parts. 10 =2x5 .9y SNV ay T AP g oy
) Differentiate between Angle of Incident and Angle of Reflection. “LAULOAL zdf‘fcwu‘&“af‘f’ ! ()
()  What is the Refractive Index of Ice and Water? fe gufzvyd’-z,rdm_s‘ (ii)
(i)  Define the terms Resolving Power and Magnifying Power. _q/u'?/&,t.ia “alnbkMys (i)
(iv)  What is meant by Fax Machine? Tq- "/lfcd-’ «J’B (iv)
(v)  What is meant by the term "Word Processing” and “"Data Managing"? e ,v/g et S X G Lrgin (V)
(vi)  Write names of four input devices of Computer. (:L..oubl...‘uuﬁn_-,f (wi)
(vil) Write two characteristics of Beta Radiation. - ._.u/»J.f'uuu (vii)
(vii) What is meant by Artificial Radioactivity? @ ﬁ:_,o/gc_,& 2 :;1,.}5‘5,- (viii)
4- Attempt any five parts. 10=2x5 -y ..,Uiﬁ‘il&tc_d/ e
(i) Define Fixed Capacitor. Give one example. O& e Lidn £ J/J)"'{ = ()
(i)  Write two uses of Capacitors. S ey, )Gf ()

(i) What is meant by Capacitance of Capacitor? \9/0 LSy ) ./*'4’ fe e UFF i)

Define unit of Capacitance. O -
(v) Define Eleciromotive Force. . @ -54/&};3:%/'94 (v)
(v)  VWhat is Voltmeter? (04 e U (v)
(vi) Define Ohm. $ & BASA (vi)
(vi) Whatis OR gate? Write its Truth Table. veo) 4_ -g“fr.’urm e e diT (i)
(viii)  Write two uses of Logic gates. 0o e tss UJJ v (viii)
SECTION-I (224>
NOTE: - Attempt any two questions. 18=9x2 _égfagwﬁa mruc..Jf <y
5.(A) What is meant by Nearsightedness and 4 e uiind IS T LB Se s U SEAMSHF ) ()5

Farsightedness? How can these defects be cerrected?

5 gm =5 S oGt By s i SIS R I o 28 Ladtihzor (L)
Be = 10ms 2 2
(B) The time period of a simple pendulum is 2 s. What will be ils length on the earth? What will be its length
onthe moon? If g =8c/ where g, = 10ms™

8.(A) Dcseuss the main features of series combination of resistors. lff Wt e snae B by 2 (LN)-8
5 -ErhuaStied i nitgod pS p¥ I 50 IV o 1B S i - 100p F ;/'gf".;. Ha Ll (L)
(B) The capacitance of a parallel plate capacitor is 100 £.  If the potential difference between its plates is
50 volts, find the quantity of charge stored on each piate.
4 T t'z/'br{(‘?é. dafc_ ﬁ}.‘@PpUA {/ﬂal’.frol(ak{[ful;fnfalwfdf.)b:; u&l/yn: (.7
7.(A) Describe using smple diagrams what happens when a narrow beam of elections passes through uniform
electric field and uniforrm magnetic field? )
5 WL L8 onf F L 6a3dniS 14k e 5730 St 14k (L)
(B) Carbon-14 has a half life of 5730 years. How long it vgill take for the gquantity of Carbon-14 in a sample to
drop o one-eighth of the initial quantity,
18-2019(A)-58000 (MULTAN)



PAPER CODE 2019 (A) (627 A

NUMBER: 3471 SSC PART-II (10th CLASS)

PHYSICS (NEW SCHEME) GROUP-l (20152017 )  wy - o/ (5 &) U

TIME ALLOWED: 15 Minutes OBJECTIVE d"?/..e? o 15 = &

MAXIMUM MARKS: 12 12= AF
Aol | SNBSS TNl R s S NI G s Vg f JKYIR TS s D ol C B A S\ RC L iy ey

g2 L2 -fé_tgs:vﬁeﬁiéfﬂéanf.’.ﬁi J:);}l: -fnxr:’n;..,—mu.&tﬁ..—.n‘d(’_ i lew s L_/Uu'}ln);}e_.._ﬁ wiSEs
Note: You have four choices for each objective type question as A, B, C and D. The cholce -..,{/.:J’fﬁ.:u Wiy
which you think Is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark In that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER. .
Q.No.1 Ry
(1) The time period of vibrating mass spring system, when its e bLIINE et a8 E B A1 (1)
mass become doubled:-
(A) Remain same f=le{l (B) Become half ¥ZsiesT (C)Increased €2 s (D) Decreased ¥Z s
(2) The speed of Sound is greater in:- ~e-nbikr T (2)
(A) Water (4 (B) Air b _(C)Metal J* (D) Vacuum (ks )
- oS Ku JH e F&iL 10em = ZEIGU -« (&5L 30em c./-fz';?)..g (3)
(3) An object is placed at a distance 30 cm from a concave lens. Its image forms at 10 cm from lens.
The magnification of lens is:-

A (B) 3 G)Oé/ (©) 10 (D) 15
(4) The magnifying power of simple microscope is:- /& . - Jnug.ﬁ EG?JYEf'Luv (4)
) Lo ®) 2 (éQ g © 1+
Se Jo ’?- 4 S ~
(5) The correct relation for Coulomb's Force is:- QO/ -g..J“".:/»d.Lw}.,)f (5)
() F=xA12 ®) F= k12 (C)F=%%g (D)p:k'_-‘ﬂrgz
(6) If 0.5C charge pass through a wire in 10 s, gt Akt 108 B 05C LELA  (6)
then will be the value of current flowing through the wire.
(A)0.05A (B)O.5A (C)SA (D)20A
(7) If we doubled the length of mettalic wire while Sn S s g/ w’,fJ_u&rJ Ia(?/l (7)
other factors remain same, then its resistance will be:-
(A) Half (5T (B) Doubled &3 (C) Quadruple §#3 (D) Remain same s} s
(8) _____ partof D.C. motor reverses ..q_tfd_'gf.-/J&fdhé; JJVALJ?VL:T/;) I 72 ] (8)

the direction of current flowing the coil every half cycle.
(A) The commutator o (B) The brushes P (C) Slips rings }"‘.-'L' (D) The armature ,'f,«f

(9) If a metal is heated to high temperature, it emits the particles:- -u_?Lxezu‘}f;l;?q)'(&.:ul/.ywl./ﬁu_ﬁ/ﬁ (9)
(A) Protons 9/;{ (B) Neutrons 7./« (C) Electrons oy (D) Positive ions ?’7:':;&

(10) Which of the gate is used to convert one logic level into -.f_r/‘:,fm S Lved su eyl (10)

opposite logic level? (A) NOT gate o/t

(B) AND gate »J %! (C)OR gate 2£iT (D) Both AND and OR gate s £iTuik

(11) In Computer Terminology, Information means:- -?&Kﬁﬁl‘;&,’tg}/‘;—;{ (11)
(A) Any data Qi;f&f (B) Raw data 376 (C) Large data &inl) (D) Processed data kil

(12) The Isotopes of lodine 131 is used in the treatment of.- -‘grxdv;'_iébu: 131- 3T WM (12)
(A) Blood Cancer A/ ¥u# (B) Bone Cancer 1 KUgh
(C) Lungs Cancer /.[ KUt (D) Thyroid Cancer /'-f}_ﬂ/Jti

18{Obj)( 37 )-2019(A)-58000 (MULTAN)



2019 (A) s
SSC PART-l (10th CLASS)
PHYSICS (NEW SCHEME) GROUP-Il  ( 2015-2017 %) 100 _ .,,7/( A ) P

TIME ALLOWED: 1.45 Hours SUBJECTIVE &= 145 = =
MAXIMUM MARKS: 48 48 = AF
NOTE: - Write same question number - Cnfg— /.J'wffg: C/J/“‘J/J)’/‘J"’&J/(é 7217 SRy

and its part number on answer book, as given in the question paper.
SECTION-I 52 s>

2- Attempt any five parts. 10=2x5 -c{/f._.ufél}lét.—-_df -2 r‘dlr
(i)  Electromagnetic waves do not require any cFE e U (e um,((yd_z_.-‘w‘,{'fgy.«@g‘ A (i)
medium for their propagation. Why? Give reason.
(i) What do you know about "Ripple Tank"? ' FELVS TS AL L i)
(i)  How does crest and trough are produced in a water wave? ?.J_YLHL«;Z ._u»l..//g,c,p.."'d JL (i)
(iv)  What is the relation between Frequency and Pitch? fe g“' UL € u‘*,{) (iv)
(v)  Write two uses of Ultrasound in Medical field. -ﬁ(fvl)b""”&:‘ﬁr'/‘gﬁu‘yé (..J)ﬂ (v)
(vi)  How the direction of magnetic lines field are determined ?q.t»[d'u;b’vf&fuﬂ.@&f A'A-.c.u_..« (vi)
in current caring straight wire?
(vil) Write down two ways to increase the magnetic force. -4:‘72__ Pl e d B (i)
{viii) What is the func:ion of "Relay"? TerWU¥ LG (viii)
3- Attempt any five parts. 10=2x5 -4’//._.“;&'74&‘-_3{ -3
(i)  State the Laws of Reflection of Light. - SILIL G, W)
(i) Define Power of Lens and write its unit. 4U.f¢a’ulal Ly /J e u,l. (it)
(i)  How Farsightedness defect can be corrected? “c.CCLry’mc:’,f d}"»’ (iii)
{ivi  What is meant by Cell Phone? S Ve N F  (iv)
(v)  Write down two advantages of E-mail. @O, &M:&J«’ $(v)
(vi) Define Super Computer, -{5 .d/\f/.;// (vi)
{vil) How can you define Natural Radioactivity? L/ s/l WEA£ L E  (vil)
(vi)  What is meant by Cosmic Radiations? \9/’ i‘.._,v/y’;.r’tdu..&( (vm)
4- Attempt any five parts. 107)2 x5 -g{//upiéli'éL;df -4
(i)  Define Electrostatic Induction. ‘Q LIPS DD ()
(i)  Define Electric Potential and also write its S.1 unit. QO -400‘_4 S KU S AT (i
(i)  What is meant by Capacitance of the Capacitor? -q)’.ﬁf-’d’.ﬁ SI LU teslrle uiss umgSEHF (i)
Also define its S.1 unit. y 4_
(iv)  Write a short note on Cenventional Current -43..,;7 ..afJ’P (iv)
(v)  How Potential difference across a LS e T UM PR IME i) et L LSy (v)
circuit component can be measured? Draw a diagram also.
(vi)  Whatis the difference between Ohmic and Non-Ohmic material? -J&th‘z S I AL Gt Lasl (Vi)
Give examples also.
(vii) What is the difference between Analogue and Digital Electronics? -vaf-'tf ?.GJ)y'ucac;f'?lﬁ'-:;u'Jta (vii)
Give examples also.
(viii) Draw a symbol cf NOT gate and also write its Truth Table -q.&f&;&}&ﬂnu_"hym}’:)f.ﬂ (NOT)  (viii)
SECTION-II (22> X
NOTE: - Attempt any two questions. 18=9x2 -é{/aglﬁd:auln:adf “ty
5.{A) What is Total Internal Reflection? 4 Ll W s S SIS ()5

Explain with Ray diagram.
c sl g (LUsp - 498 Lathis —ctul oy e 000m SUS Pawl ()
(B) A pendulum of length 0.98 m is taken to the moon by an astronut. The period of the pendulum is 4.9 5.
What is the value of "g" on the surface of the Mcon?

6.(A) Determine the equivalent resistance of 4 sl ine 8 Ms ()6
parallel combination of resistors.
5 -Gul 16x107"C 4‘./:,494,)&4‘,6.&4:4!_100..6 a,,ya’.-.v,);pt'.{,);“?i (=)

(B) The charge of how many negatively charged particles would be equal to 100 C .
Assume charge on one negative particle is 1.6 = 107'%¢
7 (A) What is NAND gate? Draw its symbaol and write its truth table. 4 _ hJ‘J,}z,l_/wJul ?c..\fJ Az (NAND) (sh).7
o efiK 28 conSINALT g Dy L w3 STK 388 vt SIKUA we e 10 TSR il (L)
(B) Hall life of a radioactive element is 10 minutes. If the initial count rate is 368 count per minute, 5 .l b=
find the time by which count rate reaches 23 counts per minutes.
20-2019(A)-36000 (MULTAN)
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Note: You have four choices for each objective type question as A, B, C and D. The choice - /== v

which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as

many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER. !

Q.No.1 A A

(1) The relation between v , / and A of a wave is:- -q_J“’uy»Liéfgwu‘Yf) (s Sgs L (1)
1 T et By A =¥ () &A=/ (D)V=%

(2) Speed of sound at 25%C in Flint glass is:- - ipdmiy 25°C LUk (2)
(A) 5950 m/s (B) 6040 m/s (C) 5960 m/s (D) 3980 m/s

(3) Refractive Index of Air is:- oI (3)
(A) 1.36 (B) 1.00 (C) 1.31 (D) 1.33

(4) The Index of Refraction depends on:- et ML (4)
(A) The focal length 4 #5F7 (B) The speed of light ¢ts
(C) The image distance ¢ o6& (D) The object distance ;L6 .

(5) The equation of Electric Field Intensity is:- el SFiw g (5)
W E =2 ® 9= (©VF =£ © E= ;F;

(6) Specific resistance of Graphite is:- e dnulylensS (®)
(A)3500 x 10°8Qm (B) 100 x107%Qm (€) 98x1073Qm (D) 10.6 x 107°Qm

(7) The power of small fan is:- -q..&m:ggfé A 7)
(A) 100 watts (B) 750 watts (C) 50 watts (D) 10 watts

(8 _____partofa D.C. motor e /eSSl e LS e o Ky DC. (8

reverses the direction of current through the coil after every energy half-cycle.

(A) The armature £.7 (B) The commutator <> (C) The brushes « (D) The slip rings 5>

() f X = A-B, then X is 1 when:- Sde; 1 U X 7 X=4BSi (9)
(A) A=1, B=1 (8) A=0, B=0 (C) A=0, B=1 (D) A=1, B=0

(10) The out put of NAND gate is O when:- BlupannsTSaSie (NAND)  (10)
(A) A=0, B=0 (B) A=1, B=1 (C) A=1, B=0 (D) A=0, B=1

(11) In Computer Terminology, Information means:- -q—-r“’fzf‘-'ﬁ‘uf&”tc/';r{ (11)
(A)Any data &30S (B)RAWdata Lt (C) Processed data L34+, (D) Large data &St

(12) One of the isotopes of Uranium is 335U -q_:lﬁJh}:iq.ﬂvi;fTw -+ Bdu Iy (12)

The number of Neutrons in this isotope is:-
(A) 92 (B) 146

(C) 238 (D) 330

20(Obj)( ﬁ)—2019(A)-36000 (MULTAN)



